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1. Which statement about the deployment of Avaya Aura® Presence Services with Avaya Aura® 8 is true? 
A. Presence Services requires one or more general purpose (open) Avaya Breeze® instances 
B. Presence Services do not require dedicated (closed) Avaya Breeze® instances 
C. Presence Services can only be installed on one dedicated (closed) Avaya Breeze® instance 
D. Presence Services always requires one or more dedicated (closed) Avaya Breeze® instance 
Answer: D 
 
2. Which two standard protocols are used by Avaya Aura® Presence Services? (Choose two)  
A. PR|M 
B. SIMPLE 
C. XMPP 
D. MSRP 
E. H.323 
Answer: BC 
 
3.A customer is concerned about outages for the new voicemail, since there were occasions when their 
previous voicemail system was unavailable. There are two PBX switches in their network with users 
evenly split between the two. they are interested in the features of Avaya Aura® Messaging (AAM)  
From a design perspective, which AAM topology would provide them with the most resiliency? 
A. A single PBX connection from each location to an application server with a centralized storage server 
B. Two application servers at each location in a cluster at both locations with a centralized storage server 
C. Two application servers in a cluster at a centralized location with a centralized storage server 
D. An application server at each location with connection back to a centralized cluster of storage server. 
Answer: B 
 
4.Although the basic Avaya IXTM Messaging solution provides many advanced features and capabilities, 
some of them require an add-on license 
Which of the following features requires an additional license? 
A. Single sign on (SSO)  
B. Additional non-Avaya PBX integration 
C. Sync with Office 365 & Google emails 
D. Text to Speech (TTS)  
Answer: B 
 
5.Which two characteristics of the Avaya strategy provide value and lower total cost of ownership for its 
customers? (Choose two)  
A. Proprietary standard 
B. Vendor interoperability 
C. Minimal hardware in favor of virtualization options 
D. Complex server clusters 
E. “rip and replace” 
Answer: BC 
 


